© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

ERWWW.SP

VIP TEAM SHELTERS 12 MT (X2)

>. SPORTSYSTEM

ORTSYSTEM.IT A— ©

304442
VIP TEAM SHELTER

PACKING LIST [ ]

19, 20, 21, 22, 23, 24, 25, 26

27,28, 29, 30, 31, 32 = REAR ELEMENTS 2 MT
33, 34, 35, 36, 37, 38, 39, 40= SIDE ELEMENTS
41,42, 43, 44= FIXING ACCESSORIES

95, 96, 97 = SOFT PAD ELEMENTS

98, 99 = TABLES

FIXING ACCESSORIES ||

VIP ARMCHAIRS [ ]

TOTAL 50 BOXES OF VIP ARMCHAIRS

[

SPORT SYSTEM SRL

| INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION |



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

Z>- sPoRTSYSTEW

ASSEMBLY PROTECTIVE SHELL

Connect one side element to a rear element with:
- 5 screws M10x120 with washer M10 and nut M10.

304442
VIP TEAM SHELTER

Connect the rear elements one to the other:
- 5 screws M10x110 with washer M10 and nut M10.

Connect the second side element to the last rear
element:
- 5 screws M10x120 with washer M10 and nut M10.

NOTE

(ONLY FOR TEAM SHELTER WITH LENGHT 12 MT).

of front protection’s steel tube. Even if Velcro strips have
adhesive rear side it could be better to block them to the

steel tube using some glue or some screws (not supplied).
Apply the soft protective pad (realized in several elements)
to the front protection’s steel tube paying attention that
pad’s Velcro strips match to strips previously applied on the
steel tube.

* Itis suggested to distribuite a film of sylicone at the junction

point between protective shell’s elements.

W

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

% SPORTSYSTEM

ERMWWW.SPORTSYSTEM.IT ®

VIP TEAM

ASSEMBLY ARMCHAIRS

304442
SHELTER

N° 1 - "POSIZIONAMENTO DELLE BASI"
BASES DISPOSITION

- Disporre le basi nella posizione indicata in planimetria.
- Align the base as in the drawing.

N

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION




© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

% SPORTSYSTEM

ERMWWW.SPORTSYSTEM.IT ®

VIP TEAM SHELTER

N° 2 - "FISSAGGIO RIGA SOTTOSEDILE"
FIXING OF THE METALBAR UNDER THE SEAT

- Posizionare la riga sottosedile sopra la base e fissare con 2 viti trilobate TE M8x20.

- Put the metal bar upon the base and fix it with the special exagonal screws TE M8x20.

N

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION

S04442



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

% SPORTSYSTEM

504442
VIP TEAM SHELTER

®

ERMWWW.SPORTSYSTEM.IT

N° 3 - "FISSAGGIO DEI BRACCIOLI"
FIXING OF THE ARMREST

- Utilizzando le viti TE 6x25 per i fianchi laterali e le viti TE 6x30 per i fianchi centrali con dadi
autobloccanti da M6 avvitare i braccioli come da disegno (il bracciolo sotto e la riga sottosedile
sopra, inserendo come rinforzo la piastrina in dotazione) facendo attenzione ad utilizzare i

fori centrali. | fori laterali servono per eventualmente aumentare o dominuire l'interasse della
poltrona.

- Lateral armdise: Using screws hexagonal head 6x25 with nuts M6

Central plastic armside: Using screws hexagonal head 6x30 with nuts M6.

Screw the armrest like the drawing (the armrest down, the metal bar up).

Playing attention to use central holes. Lateral hole are made to change in plus or minus the
interaxis of the armchair of 1 cm.

CX Plastic Armside

[

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

% SPORTSYSTEM

®

ERMWWW.SPORTSYSTEM.IT

504442
VIP TEAM SHELTER

N° 4 - "FISSAGGIO SUL PAVIMENTQO"
FIXING ON THE FLOOR

- Allineare o posizionare in curva le poltrone in base al progetto.

Se pavimento in cemento: forare con punta da diam. 10 mm tutti i fori davanti e dietro i piedi.
Inserire le viti TE 8x60 nei relativi Fisher, poi nei fori dei piedi ed avvitare.

Se pavimento in legno: utilizzare direttamente viti da legno TE 8x50.
- Align or arrange in curve the seat following the project.

For concrete floor: Drill @10 mm all the holes in front and rear of the feet .
Insert the screws TE 8x60 with fisher, then in the holes of the feet and screw.

For wooden floor: using the screws TE8x50 and screw directly.

@ —

/
_?l.ﬂ‘
= ‘\{T"- 0
L Ty
)

ST
{

[

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

«— - SPORTSYSTEM

A

®

‘ ; ERMWWW.SPORTSYSTEM.IT

VIP TEAM

304442
SHELTER

N° 5 - "INSERIMENTO SCHIENALE"
INSERTION OF THE BACK

- Lubrificare tubi con vasellina dove indicato.
- Inserire schienale nell'apposita sede

- Lubricate the tube with vaseline.
- Insert the back on the apposite site.

Lubrificare tubi con vasellina
Lubricate the tube with vaseline

W

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION

~



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

% SPORTSYSTEM

ERMWWW.SPORTSYSTEM.IT ®

504442
VIP TEAM SHELTER

N° 6 - "REGOLAZIONE DELLO SCHIENALE"
TO ADJUST INCLINATION OF THE BACK

- Per regolare lo schienale: svitare il controdado di bloccaggio contrassegnato dalla lettera "A"
(utilizzare una chiave da 13), con la vite di regolazione contrassegnata con la lettera "B"
(utilizzare una chiave a brugola da 6) regolare l'inclinazione avvitando o svitando. Una volta
ottenuta l'inclinazione voluta ribloccare il dado.

- Inclination of the back: unscrew the blockage nuts "A" (with spanner "13"), regulate the
inclination with an allen spanner of 6 ("B"). Reached the desired position, stop all with the nut "A".

[

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION




© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

% SPORTSYSTEM

ERMWWW.SPORTSYSTEM.IT ®

304442
VIP TEAM SHELTER

N°® 7 - "FISSAGGIO DEL SEDILE"
FIXING OF THE SEAT

- Posizionare il sedile sopra la poltrone ed assicurarsi che le due viti premontate siano nelle
apposite sedi. Avvitare le due viti verificando che siano a fine corsa nell'asola; una volta fatto
questo avvitare con una vite truciolare con testa a croce.

- Put the seat on the armchair being sure that the preinstalled screws are all in the holes.
Screw the screws playing attention that it's at the end of the button hole. When ready screw with a wood screw

N

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

«— - SPORTSYSTEM

A

®

‘ ; ERMWWW.SPORTSYSTEM.IT

VIP TEAM

304442
SHELTER

N° 8 - "COPRI BASE"
COVERING OF THE BASE

- Inserire I'apposito dente "A" nel foro "A" e con leggera pressione verso il basso far entrare il
dente "B" nel foro "B".

- Insert the plastic part "A" inside hole "A", then press down the cover inside hole "B" with a jag.

W

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION

~



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

«— - SPORTSYSTEM

D

®

‘ ; ERMWWW.SPORTSYSTEM.IT

S04442
VIP TEAM SHELTER
N° 9 - "FISSAGGIO ISOLETTA RIVESTITA"
FIXING OF PADDED ARMREST
- Inserire seguendo I'ordine numerico indicato.
- Insert the padded armrest following order.
]
_ T 7
’ i
! N

SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION



© 2024 Sport System Srl - Unauthorized reproduction is prohibited.

% SPORTSYSTEM

ssssssssssssssss

VIP TEAM SHELTER

S04442

ASSEMBLY ARMREST [ ]

W

~
SPORT SYSTEM SRL | INFO@SPORTSYSTEM.IT - WWW.SPORTSYSTEM.IT | ASSEMBLING INSTRUCTION



